Foundations of Algebra Unit 6 - Functions, Systenms of Equotions & inequaliiies Noles

Creating Function Rules

When creating function rules, you need 1o think about the funcfion mochine. The funcion machne iokes on
input, does something to this input according 1o some rule, and refurms 0 unipuSe oulput

steps to Creating Function Rules:

1. Look at the x values. You need to know if they are going up by one or ¥ they
are skipping.

2. Next look at the y values. How are they changing?
e Are they going up by the same amount?
e Are they going up by different amounts?

Exomple 1:

The y values in this table are going up 0“& every fime. That means the you wil I
multiply each "x" by : aln’;

l
3. Go back to the first x. (Self-check with second x). 2 [3

* Looking at the first x, after you multiply it bz one, what do you need to do o

makeitequaltheyvaluez IX = ) =] *4 =5 3 1
e Looking at the second x, after you multiply it by one, what do you need to do 4 8

tomake it equal the y value? |A = lLZ)‘—‘Z_ +4 = (5

You need to add ﬂ . Thismeans therule is y = | (‘X I t ﬂ .

4, Once you decide on a rule, make sure it works for the other x values. The functionisy = l ! *& ,
In function notation, itis_E(x) Z ¥ +4

e R S

Guided Example 2: Example 2

1. Look at the x values. You need to know if they are going up by one or if they are
skipping. b -2 -7

2. Next look at the y values. How are they changing? -4 -2

The y values in this table are going up _i_ every fime. That means the you will = 0 3
multiply each “x" by _5_ 1 8

3. Go back to the first x. (Self-check with second x).
» Looking at the first x, after you multiply it by five, what do you need to do to make it equal the y value?
5x = 5L—L)‘ -lo *3 =-"
e Looking at the second x, after you multiply it by one, what do you need to do to make it equal the y
value? Sy = 5(—1): -5 +3 - - g

Youneedioadd__+3__. Thismeans the rule is y=9 (% l +3

4. Once you decide on a rule, make sure it works for the other x values. The functionisy = 5 X 4’;5 :
In function notation, it is _¥ .*lj z hyt:
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Practice. Create a function rule tor the lable ond ponts below:
A FTOTITTe] Ix-2 B.(11.9.2.6.0.9). 012y 3X “F
y |-1] 0|1 ]2 oR_ x [V [z]sTa ) =
# #l + X~ 2 S IsJeltg] 12 3x
Ix= (0 2~ | *3 73 +3
| x = %)) ""‘,2_: 5 3x=3Y=13 re =13
| '—Z 3x=8(2) s 20 = L
x= =322 =1 3x=3(3) = 942 = 9
Creating Function Rules from a Context
Scenario

io: Consider fo tuations...
e The(number of hours worked and the money eamed

* Your grade on a test and the Qumber of hours you studied )

e The total cost of a pizza delivery and the(number of pizzas a@

There are two quantities changing in each situation: Independent and Dependent Quantifies/Varicbiles:

Independent Quantities/Variables Dependent Quantities/Variables
Input values (x) Output values [y) — end |r=s wie/fetal
NOT changed by other Changes due to independent
guantities/quantity that dependent quantity/DEPENDS on independent
quantity depends on quantity
Located on x-axis Located on y-axis

)

('Y) Cl"f‘“d“"‘“— “total Sff-n‘\"on su.f‘;\i“«S

F(4)=.25(4)+600
£(4) = .
4FL4) = %400 r-uno.imr\-g_

In the scenarios listed above, circle th@ucnﬁw and underline the dependent guanfity. Then

name a variable to represent the independent and dependent quantities.

Creating functions is very similar to creating equations. You will want to define a variable. identify the changing
value(dependent), and the constant value(independent).

Scenario: An art teacher has $500 for supplies and plans to spend $25 per week.

B. Create a function rule relating the two quantifies.
=.2H8x + 5600
fr) =25x +500
C. How much money will be remaining after 4 weeks? ()‘) D. After 6 weeks? ()")
‘ )= - 25(u) +Se0
He)= - |50 +500
L) = & 350 wmmmf\’ér_

3) G. How long did it take to spend all the money?2 —

O= - 25y+500

A. Name the independent and dependent quantities.
n dunt: numbur oF howrS

- 00+ 600

F. How many weeks did it take to have $100 remclmng?
= .26x+500

;go~—z6kl—§9»o’

_.S00 = — 2L
500 g
S 2 —25
- 400 =— 256X 2.0 = X
Vb = X S-S




